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T 3397 :

FHETITRET 145911 %1 agd FIae] & Tieq 31K 371 ] & Yot 1T :

(i) 3G F97-97 930 357 & | @4t Io7 srfAard & |

(ii) I8 J97-97 Giel @S] 8 [Af5q 8 - @ve e, @&, T, 909 & |

(i) WY F — Jv7 &I 1 & 17 7% Tgascdid Io7 & |

(iv) TWUE T - ¥97 &7 18 T 19 &id TR I57 & |

(v) WUE T — J97 G&IT 20 T 23 TF TY-FT0T TPR & o7 & | 4P J97 BT FH
80 @ 100 55T 7 forar ST =150 |

(vi) TUE T — Y97 &7 24 T 28 FH-FRIT YHR & Y97 8 | Ie9% J97 &1 I/ 120 G
150 551 8 for@r s =z |

(vii) GUSF — Yo7 G&I7 29 7 30 HI/=7 TERT I97 & |

QUe &
5T GE F 17 Tglahediy I97 (3. G. 1- 17) & | @%t 397 sifaard & | 17x1=17
1. 7ry [ &1 Tam &azy [1 8 HIfSu iR &3 fehey w1 ==a hifsu

e I &=y I1
(37 737) (17T
i, Jtef dea 1. TYeheueme
i, 3% Hgw 2. SATEIEIE/IIATS
i, o% Hed 3. BNIY
iv. 9RY HA 4, TTAL
IEETR I
(a) i-1,ii—2,iii—38,iv—4 (b) i-4,ii—-3,iii-2,iv-1
() i-8,ii—4,iii—1,iv-2 d i-2,ii—38,iii-4,iv-1
2. Yd ‘gra o k frg gt A @ 2
(a) 3Afd3I= (b) 3=
(c) HYH d f=
3. Ui, US| IcqTel Ud IaLehl ol URUT hid o foIT ST T U R
(a) Y TS (b)  Bfeea
(c)  ohisal (d)  TqeepIfA
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General Instructions :
Read the following instructions carefully and follow them :

(i) This questions paper contains 30 questions. All questions are compulsory.
(it)  This question paper is divided into five sections — Sections A, B, C, D and E.
(iti) Section A — Questions no. 1 to 17 are multiple choice (MCQ) type questions.
(iv) Section B — Questions no. 18 and 19 are source based questions.
(v)  Section C - Questions no. 20 to 23 are Short Answer (SA) type questions.
Answer to these questions shall be written in 80 to 100 words.
(vi) Section D - Questions no. 24 to 28 are Long Answer (LA) type questions.
Answer to these questions shall be written in 120 to 150 words.
(vii) Section E — Questions no. 29 and 30 are Map based questions.
SECTION A
There are 17 multiple choice questions in this section (. No. 1 - 17).
All questions are compulsory. 17x1=17
1. Match Column I with Column II and choose the correct option :

64/1/3

Column I Column I
(Railway zone) (Headquarter)
1. North Central 1. Secunderabad
ii.  East Central 2.  Allahabad/Prayagraj
iii. West Central 3. Hajipur
iv.  South Central 4.  Jabalpur

Options :

(a) i-1,ii—-2,iii-3,iv—-4 (b) 1i-4,ii-3,ii—-2,iv-1
() 1-3,ii—-4,1i—-1,iv-2 (d) 1-2,ii-3,1i—4,iv-1
In which category of ‘human development’ does India lie ?

(a)  Very high (b)  High

(c) Medium (d) Low

The port designed to receive petroleum, petroleum products and
fertilizers is :

(a) New Mangaluru (b) Haldia
(c) Kandla (d)  Tuticorin
3 P.T.O.
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4. AT $N i FAfaRad § 9 -5 Th Ayl e g ?
(a) WIS HEA! ol 3T
(b) 3T U @ Hall hl IcdTEA
(c) Teetgs et &1 3T

(d) WIER BHEAT hT IqTEH

5.  HgHRI Y hl AGIAH HHTARad <31 § € fohad Falfes 9%a @1 8 ?

(a) JIATECE TohiTeA (b) ST
() <M (d)
6. fou wu womeAl @ ufeu R ‘GreiRes TEeHl @ Tefud wE fashew w1 =Em
Hifs
I O ST
IL oo Y i
III. oo Rt 9qH
IV. =g 9
ICETR B
(a) SaAlFIITE R | (b) had [I9 1T B |
(¢ SaadITIVEL & | d FaAITIVEL T |

7. INYHH WA HIIST Hl Sie aTell ol T&AT & AR AfThad d —=[Jad
g T aTcl fahed s T

(a) WRAE-FUTE, glag, e Ta =H1-faserd!
(b) WRAE-YE, 37T, glag T =fiHi-fossd
(¢) giae, IRAR-dE, =i-fasedt g Aifees
d) zfae, Affees, IRAR-UY T <i=-fossdt

8. Tr=fcafga Tsai # @ forEshl 2001 ¥ 2011 T H SHHEAT Jhg o TN & ?
(a) WO (b) TS
(c) Toom d) Toformn
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4, Which among the following is an important speciality of the
Mediterranean agriculture ?

(a)  Production of food grain crops
(b)  Production of grapes and citrus fruits
(c) Production of oil seeds crops

(d)  Production of fibre crops

5. In which of the following countries has the movement of co-operative

farming been most successful ?

(a)  United Kingdom (b)  Germany
(c) Denmark (d)  Brazil
6. Read the given resources and choose the correct option related to

‘community’s resources’ :

L. Village water bodies

II.  Village agriculture land
III. Village residential land
IV. Pasture land

Options :

(a) OnlyIandII are correct. (b)  Only II and III are correct.
(c) Only IIT and IV are correct. (d)  Only I and IV are correct.

7. Choose the correct option in order of number of people speaking modern
Indian languages from maximum to minimum :

(a) Indo-European, Dravidian, Austric and Sino-Tibetan
(b)  Indo-European, Austric, Dravidian and Sino-Tibetan
(c) Dravidian, Indo-European, Sino-Tibetan and Austric

(d)  Dravidian, Austric, Indo-European and Sino-Tibetan

8. Which one of the following states has the highest population growth rate
during 2001 to 2011 decade ?

(a)  Manipur (b) Nagaland
(c) Mizoram (d) Sikkim

64/1/3 5 P.T.O.



10.

11.

12.

13.

14.

64/1/3

@2 collegebatch.con

giar e & Iewl 9 getua Fefaiaa sl 1 ufeu 3t o) foehew <t
WW:
I. I e ! TafBa s

[I. o= s 9 & se 0 TG
[II. HEATST o TS hl dgdl il
IV. o=l %l Jcg S I HH ST

IEETR I

(a) Haa L [T IVHE 7 | (b) HaAL T IITE B |
(¢) <hawt I, III TS IV H&ET & | @ FaALIITWEIVHE B |
fafcfga # 9 form T 1 SHEET 9Hcd 999 H 8 2

(a)  STRUEA W (b) TS

¢ T d) Tafrrm

o 0N

frefefiad o & T3l o fopd T # gfog wid el St 8 2
(a) T8, AMTcIS, [T

(b) TSI, HEWISE, T3
(c)  ofifesm, ufeem s, foER

o o N
(d) dlHcdAlg, enlcen, onicd

frfcIaa oo § | fopeeh! AHA faehtd F=ehieh T Hal= & ?

(a) A (b) e

(c)  oATRfernm d) =S

FafaRaa st =1 s1ewa FISe R Tl fasrey &1 =—= FifvT .

HYTI : AT % TR o HIY GEER 1 dR-dR HFqeT & 919
oo &1 ™ |

FHYTII : JRUMAEEY Teh @i dedeh o1 N 3 o 9™ 8 Sl
IR

ICET

(a) hdd HoH [ TE B |

(b)  had HeH [I T 7 |

(¢) Y 19 I3 &l 8, e I, A 1T Tal INomd 8 |
() U I I3 &l 8, AT 11, A 1 T T&l Iiom =1 7 |
fefcfga & 9 -8 9919 & Ufdey e ¥ Gefad g 2

(a) Wik fauqme (b)  TRA T
(c) Sfted @ Hufa <t grar (d) wfa 9 Tl
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Read the following statements regarding objectives of family planning
and choose the correct option :

L. Control the birth rate

I1. Spacing the birth of children

III. Improving women’s health

IV. Reducing the death rate of children

Options :

(a) Only I, IT and IV are correct. (b) Only I, IT and III are correct.
(c) Only II, IIT and IV are correct. (d) Only I, IIT and IV are correct.
In which of the following states has the lowest density of population ?

(a)  Arunachal Pradesh (b) Nagaland

(c) Mizoram (d) Sikkim

In which of the following groups of states are Dravidian languages
spoken ?

(a)  Assam, Nagaland, Manipur

(b) Gujarat, Maharashtra, Goa

(c) Odisha, West Bengal, Bihar

(d) Tamil Nadu, Karnataka, Kerala

Which one of the following countries has the highest rank in Human
Development Index ?

(a) Germany (b) Sweden

(¢)  Australia (d) Denmark

Study the following statements and choose the correct option :
Statement I : With the digitisation of information, telecommunication
slowly merged with computers.

Statement II : 1t resulted in integrated networks termed as Internet.

Options :

(a)  Only Statement I is correct.

(b)  Only Statement II is correct.

(c) Statements I and II both are correct, Statement II is the correct
result of Statement 1.

(d) Statements I and II both are correct, Statement II is not the
correct result of Statement I.

Which one of the following is related to push factor of migration ?
(a)  Natural disasters (b)  Pleasant climate
(c) Security of life and property (d) Peace and stability

7 P.T.O.
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[AHTfEad & 376997 %1 9leq 37 97 &7 15 & 17 3 I [07RaT |

WY Y o IMYR W qa=r (Nfeem &1 HEen &) °§ fmior e w
fUsdl 1 a9 O U dost o €9 U I @ 8 | 98 U4 Iohal & T1y-a1y
- § fafm SEl, S o g, ge8, MeR, e, SR et T |
SITAT 8 | 98 Widay 3794 9ge e H fUar o 9| T 20,000 W1 B | 3Hh gRI
Tol MU 98 GErq: ¢feh UMW, ey 6l @, sl 6l Ugls, e W T
B 8 | 9 99 $fN, FHF Fi @lig qur = & i, enfg w o @ g E
TS & YNGR o E-T81 ol & a1deh &9 & aU 8 |

15 99 UEd, BTATd U T8l 9 | INaR 98d & e aRfeufaa 8 Tor @
o | 3Gk fiF g 3R 3 IRaR ofiF wehg it w felt 9 | ufew g g @
ol H g1 g1 AT | T ol I IeT8 o herl H & BieA ULl | WG 691G
ql 98 3R Wt oA aifearfal o R T |

T qHE, WY AU ek FO HhHA IcqaEAl H GwIled g3,
QIR § 1 o R 9 IR Mg B 79 qRERT S T8 3R IuYRAT aequ 99
AT ' 9 | 39 a8 IRER h et M R #§ Al w1
UTeh 98 39 T o EY IS ST 3T | 38 1988 H IR hl Th
el § T 20 Ufdfed <l 7oigdl W 6 A8 deh M fhaT | T 36 39 3T |
Jaftheh @Al 1 SAIW R I HI ke oh HIA-ATY, I A5 G&h(d IR
TSR] < T1Y TG | e [Td Bl H HISATSAT 1 AHAT HET TST | $8h 91G
3G 30 TR o AN W IR § §Xd ([9d) H 1 i ol Hu™
T | Ta@ # 38 dfcen & HE S H v H@l 3R 36k 91G 98 39
JhER o T TAT-AHT STl T ATl AT & | FTAllch W b Td H IGeh
qiEr i aiiele feafd gudl 8, W 39 AUl | g W ol 1Sl sieH! Sl @ |
I8 A Ul Ta S hI AU H1A A o T Hehdl § ik IGehl iRl
STEATAT 3N TAHTE 3 |

o 0

15. Tefafgd § @ sH-|1 g€ %1 319 8 ?
(a)  JaTERT gRT 9ST TR O
(b)  SETHAT GRI HHMET T €949
(¢) STt g femam o @
(@  varteEt grn fora sk
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Read the case study given below and answer . No. 15 to 17.

Ramesh has been working in contract as a welder on a construction
site in Talcher (coal region of Odisha) for the last two years. He moved
with the contractor to various places like Surat, Mumbai, Gandhi Nagar,
Bharuch, Jamnagar and so on. He remits ¥ 20,000 per year to his father in
his native village. The remittances have been mainly used for daily
consumption, healthcare, schooling of children, etc. Part of the money is
also used in agriculture, purchasing of land and building of houses, etc.
The standard of living of Ramesh’s family improved significantly.

Fifteen years ago, the situation was not the same. The family was
passing through very tough times. Three of his brothers and their families
had to survive on three acres of land. The family was highly in debt.
Ramesh had to discontinue his studies after ninth standard. He was
further hard pressed when he got married.

Simultaneously, he was also impressed by some successful
out-migrants of his village who had been working in Ludhiana and
supporting their families in the village by sending money and some
consumer goods. Thus, due to abject poverty in the family and perceived
job promises at Ludhiana, he made a move to Punjab with his friend. He
worked there in a woolen factory for six months at the rate of only ¥ 20 per
day in 1988. Apart from the crisis of managing his personal expenditure
from this meagre income, he was also facing difficulty in assimilation to
the new culture and environment. Then he decided to change his place of
work from Ludhiana to Surat under the guidance of his friend. He learnt
the skills of welding in Surat and after that he has been moving to
different places with the same contractor. Though the economic condition
of Ramesh’s family at the village improved, he is bearing the pain of
separation of his near and dear ones. He cannot shift them with him, as
the job is temporary and transferable.

15. Which one of the following is the meaning of remittance ?
(a)  Money sent by migrants
(b)  Money earned by migrants
(c) Money spent by migrants
(d) Loan taken by migrants
64/1/3 9 P.T.O.
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16. WA H YOI Yo <1 YHE SR 2

(a) e
(b) TSR
(c) LS IES2)
(d) e

17. TrafaRea o @ -1 I Yo =1 U SHifheR i g ?
(a)  TaeT TS < SMURYT Gl T gad
(b) 3T TIA W AAGU Hl AL
(c) Y W it Tt # rEdeH
(d) 7T TAA T FERIA T HH

Qs @

J97 GE&IT 18 U 19 Gld-3TeRT 597 & |

18. feu U Ig=sg I =AY 4feU 7R 3Heh = U T JeAf o I AT @ 3x1=3

STe 319 SR 98d & 79 fohefl STeret i JaATd & TAAT 7Y IIHETEh St
o U I 8 | -t 3ok JTar-fUdn SUER % e SfTueh! SRudt o S
2 | faeme™m & stuent sreamus verd @ | feRelt oft foarg i feafa & it ™
FhIA | o ST B | SEH YBR 3h FFErl Fd g S B B PAH 8 W
I FATE YgH B 7 | 37d: Gt JehR i HaTd fafsme HeAd gt § S A
& S U Bt 8 | ey, fwem, fafa, wsmEe et WM sewfe @
I HIAAT hl SMETITRdT & | 1 HATl I 3 Jgifas FH R
foraTerer gfteqor Y sTTawerehdt Bl 8 S I 378 YUl SATaETeh ST 7 |
Jieh TShATehalTd TaT TFeX | HAfUd & | SHRIh a1 Hdel 1 T Hgw@qul
Hh 3 Hlch SR Ik Tshamehal 1 fvared Hora ik, SaeETiie
gfte | yieriera foeivs 3TR qUmsigraTsti gy gidm g |

anfeier ferepra s ATRIYeh 3racenati § <N o1 Ush ST 4T T deex
T R AT AT | T Toreplia srefedeeen o sgeeash Al qdrash R |
TSR 9T & TR T9eTTehd A T | fgdioeh deet § SRid 2id § |

(18.1) gt wa qefiareh fshamehaiTal § TH@E 37X i T hHINT | 1
(18.2) ik TohATehaTd fohd PR IcdTed 7R faf-mer gl & wafyd & 2 1
(18.3) Tormgl q1 gtk fshATRTal A1 Sooi@ HITTT | é+é=1

64/1/3 10
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16. The main cause of rural-urban migration in India is :
(a)  Education
(b)  Employment
(c) Health
(d) Tourism

17. Which one of the following is the demographic consequence of
rural-urban migration ?
(a)  Pressure on infrastructure at the place of destination
(b)  Shortage of labour at the place of origin
(c) Imbalance in age and sex
(d) Intermixing of culture at the place of destination

SECTION B

Questions number 18 and 19 are Source-based Questions.
18. Read the given passage carefully and answer the questions that follow : 3x1=3

When you fall ill you go to your family doctor or you call a doctor.
Sometimes your parents take you to a hospital for treatment. While in
school, you are taught by your teachers. In the event of any dispute, legal
opinion is obtained from a lawyer. Likewise, there are many professionals
who provide their services against payment of their fee. Thus, all types of
services are special skills provided in exchange of payments. Health,
education, law, governance and recreation etc. require professional skills.
These services require other theoretical knowledge and practical training.
Tertiary activities are related to the service sector. Manpower is an
important component of the service sector as most of the tertiary
activities are performed by skilled labour, professionally trained experts
and consultants.

In the initial stages of economic development, larger proportion of
people worked in the primary sector. In a developed economy, the
majority of workers get employment in tertiary activity and a moderate
proportion is employed in the secondary sector.

(18.1) Explain the main difference between secondary and tertiary

activities. 1
(18.2) How have tertiary activities related both production and

exchange ? ;o 1
(18.3) Mention any two tertiary activities. 7 +§ =1

64/1/3 11 P.T.O.
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19. < TE AIfCTohl 1 SIMYGh AT hIfVT 3T 3ok A= fgu MU ywai & IW
fofew 3x1=3
YRT — FRIB BT Jqrdl, 1901 — 2011

CL TR /AT | T S | A SHEEd | SR dig
Gl hl TE (B9 H) H % (%)
1901 1,827 25,8519 10-84 —
1911 1,815 25,941-6 10-29 0-35
1921 1,949 28,086-2 11-18 8:27
1931 2,072 33,456-0 11-99 19-12
1941 2,250 44,1533 13-86 31-97
1951 2,843 62,4437 17-29 41-42
1961 2,365 78,9366 17-97 26-41
1971 2,590 1,09,114 19-91 38-23
1981 3,378 1,569,463 23-34 46-14
1991 4,689 2,17,611 2571 36-47
2001 5,161 2,85,355 2778 31-13
2011 6,171 3,77,000 31-16 31-08
(19.1) wRA ¥ for8 a8 # T SHEEA1 61 EhR Jhg daiiess off ? 1
(19.2) a¥ 2001 ¥ Fat fehat THT g ot 2 1

(19.3) I9 1901 & 2011 Hed A § TR hl T § FA ol Jlg T3 ? 1
Fie: FHECTRIT F97 Fac7 GIRanaa gaenfdal & 17 397 G&r 19 & €& |

&/

YA H T afeadi i fohegl o foRivareti &1 ¥ase ST | 3x1=3

@Ug T
97 G&I1 20 & 23 TG-IT0T I & |
20. (%) uNd H Tleru-ufvedt R yewr’ @i 9 St yg@ foRdrst &1 eo@

T | 3
3T
(@) vra & SwAfad yew @fe 7@ 6 e foemaet w1 Ieoa
T | 3

64/1/3 12
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19. Study the given table carefully and answer the questions that follow : 3x1=3
India — Trends of Urbanisation 1901 — 2011

Year Number of Urban Population | % of Total Decennial
Towns/UAs (in Thousands) Population Growth (%)
1901 1,827 25,851-9 10-84 —
1911 1,815 25,9416 10-29 0-35
1921 1,949 28,086-2 11-18 8-27
1931 2,072 33,4560 11-99 19-12
1941 2,250 44,153-3 13-86 31-97
1951 2,843 62,4437 17-29 41-42
1961 2,365 78,9366 17-97 26-41
1971 2,590 1,09,114 19-91 38-23
1981 3,378 1,59,463 23-34 46-14
1991 4,689 2,17,611 25-71 36-47
2001 5,161 2,85,355 2778 31-13
2011 6,171 3,77,000 31-16 31-08
(19.1) In which year was the decennial growth of urban population the
highest in India ? 1
(19.2) How much was the total urban population in the year 2001 ? 1

(19.3) How much was the total growth of number of towns between the
years 1901 to 2011 in India ? 1

Note: The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 19.

Explain any three characteristics of urban settlements in India. 3x1=3

SECTION C

Questions number 20 to 23 are Short Answer Type Questions.

20. (a) Mention the main characteristics of the mineral belt of
‘South-Western Plateau Region’ of India. 3
OR

(b) Mention the main characteristics of mineral belt of ‘North-Western
Region’ of India. 3

64/1/3 13 P.T.O.
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21. 9Rd H U@ gig I e F (1901 — 1921) F SHEEA Jhg H fER

TIEAT AT Hgl AT @ 2 Shis diF dob ekt T hIFIT | 3
22. WA HiY hl T Icugehdr i THET S T HIT | 3

23. (%) “Ora Wh{d o FEEI P &R ST H THSH b W1 & TR 1 e
IR |7 HHE o Tha1ohiol oh e § 38 HF 1 e hi | 3

HAYAT

(@) “Ame fRateti i B9 9o g |7 Tohid % ARl & HeH H 36 HoH

1 Yoo I | 3
Qs Y

T G124 & 28 T FHIT G97 & |

24, “Sfeu MR T FAH &7 H Tdd N fIhE w1 T I w6 folw g
w9 o uifeafaeha gad aieeiedr W e <A1 g |7 36 %Y 1 YodTed

i | 5
25. “ “qr-hafgT Temnt wAer it onfdes met B |7 U dhl T $H A
gfte HifT | 5
26. ‘AT AR o T Tova AR @ie’ 6l Yfient ol T HiT | 5
27. (%) “YRA FH GSH A [O¥F H1 GHU T TG TSH A 7 |7 39 HAA I
gfte HifT | 5
AT
(@) “uandia 3@ e fava & qaifees dd 3o el § 8 U 2 |7 39 HAT 6
gfte HifT | 5
28. (%) fava @ 3= 1 safcafa & ywifad & 9l 99 Y@ SRhI Hl
forgetwor HifSw | 5
HAAAT
(@) = AT T YNG IT o afienor 1 foiwor gi= 3fivfent o 37ard
i | 5
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21. Why is Phase I (1901 — 1921) of growth of population referred to as a
period of stationary phase of growth of India’s population ? Explain by
giving any three arguments. 3

22. Explain the problem of low productivity’ in Indian agriculture. 3

23. (a) “Human beings were able to develop technology after they
developed better understanding of natural laws.” Evaluate the

statement in the context of naturalization of humans. 3
OR
(b) “The imprints of human activities are created everywhere.”
Evaluate the statement in context of humanization of nature. 3
SECTION D

Questions number 24 to 28 are Long Answer Type Questions.

24, “Attaining sustainable development in the Indira Gandhi Canal (Nahar)
Command Area requires major thrust upon the measures to achieve

ecological sustainability.” Evaluate the statement. 5
25. “‘Trans-Canadian Railways’ is the economic artery of Canada.” Support
the statement with appropriate arguments. 5
26. Explain the role of ‘World Trade Organisation’ for ‘International Trade’. 5
27. (a) “India has one of the second largest road networks in the world.”
Support the statement. 5
OR
(b)  “Indian Railways network is one of the longest in the world.”
Support the statement. 5

28. (a) Analyse five main factors affecting location of industries in the
world. 5

OR

(b) Analyse the classification of industries on the basis of raw
materials into five heads. 5

64/1/3 15 P.T.O.
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Qs ¢

T GEIT 29 T 30 FHIGT HTERT F97 8 |

29. TER & fqu MU ueHifos Wramted (Y8 21 W) § Gra Wiifos @en
% A,B,C,D,E, Fan G 9 fegrn mn 2 | fosl grer & ug=m Ffafiaa
SRR hl FgEdl 8 hife 3t 396 H&l 9 I qrE @ikt 75 @il ©®@
fetfiaa 5x1=5

ITSHIRT T HaH ST <3

foreqa aTforsr STt iy &1 &

@ FHg T

At e &

AU Y I

ATE TS IRTRTET ITHTT b1 Tod IfTad o1 I

Zfeqor SRRt 1wl e oW

" E U oW p

Fig:  FHEIRad Ju7 Fac gIvEaTad qheiferEr & o7y gv7 G837 29 F T W
g1
FReleriaa & @ f=81 aiar 3571 & 3 9T 5x1=5
(29.1) 3THIHT T HH ST < HIH-AT 8 ?

(29.2) TSI & foreqa anfors o Y & w1 A fafaw |
(29.3) WU % Teh Y@ TG 90 ol W fAfGT |

(29.4) 3ITEATCH HEETR hl YT T YA HETENR H IS aTcil T8¢ bl I
fofau |
(29.5) SIS o Y@ a1y IO I W TARGT |

(29.6) T GTR & YHEIHNR ! Sl arel! At gitasd gt &1 7 fafaw |
(29.7) TfFur SRR o TFH F ¢ 1 AW [ARGT |
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SECTION E

Questions number 29 and 30 are Map based Questions.

29. On the given political outline map of the World (on page 21), seven
geographical features have been marked as A, B, C, D, E, F and G.
Identify any five with the help of the following information and write

their correct names on the lines drawn near them : 5x1=5
The largest country in Africa

An area of extensive commercial grain farming

A major seaport

A shipping canal

An international airport

4= 0 am »

The westernmost station of the Australian Trans-Continental
Railway

G. The largest country in South America

Note: The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 29.

Answer any five questions out of the following : 5x1=5
(29.1) Which is the largest country in Africa ?

(29.2) Name an area of extensive commercial grain farming in

Argentina.
(29.3) Name any one major seaport in Japan.

(29.4) Name the canal that connects the Atlantic Ocean to the Pacific
Ocean in the West.

(29.5) Name a major airport of New Zealand.
(29.6) Name the canal that connects Red Sea to Mediterranean Sea.

(29.7) Name the largest country in South America.

64/1/3 17 P.T.O.
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30. WRA % U T TsHIdeh W@I-AHRA (I8 23 W) # f=fafed ama dhmfees
A § 9 fhegl oier 1 3uTH Tomi gra 3Afeha Shifore 3T 33k I fafaw : 5x1=5
(30.1) HalfYeh TSI Tcd AT T
(30.2) 10 fiferm & =1fYe g arel wRd &1 Fed i TR
(30.3) HUTH 1 HUVH IcqTGeh U
(30.4) I Y H TE@ d e S
(30.5) dfteHTg o fed st 61 @
(30.6) ifewm & T yq@ |Gl e
(30.7) SIE H feud STaisdiy g uee

Fie:  [HEliad Jv7 Fac giEETE gheidEat & g Je7 G&wr 30 & T |
g1
eforfad 7 @ [ giar 3941 & I e 5x1=5
(30.1) WA o HaIeh JTHEAT Icd Il T T 911 TAfgu |
(30.2) <hHUTH < 3TV IcqTesh TS <kl A1 TARgU |

(30.3) 3T UeW H fopH T W da SMew wren feerd 2 2
(30.4) 10 WfeRM € 2AfUsh SHEEN a1l WRA % H&9 Yol R H1 M

fafaw |

(30.5) Wde! die @H forg =9 ° g 3 2

(30.6) eI HHGE Io fohd TSI | feor@ 8 2
(30.7) USTE H ST I I fohd T W fedrq g 2
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On the given political outline map of India (on page 23), locate and label
any five of the following seven geographical features with appropriate

symbols : 5x1=5
(30.1) The state with highest density of population

(30.2) The easternmost city of India having more than 10 million

population
(30.3) The leading cotton producing state
(30.4) Oil Refineries located in Uttar Pradesh
(30.5) Coal mines located in Tamil Nadu
(30.6) Major seaport located in Odisha

(30.7) International Airport located in Punjab

The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 30.

Answer any five questions out of the following : 5x1=5
(30.1) Name the state of India with highest density of population.
(30.2) Name the leading cotton producing state.
(30.3) In which place of Uttar Pradesh are oil refineries located ?

(30.4) Name the easternmost city of India having more than 10 million
population.

(30.5) In what state are the Khetri copper mines located ?
(30.6) In which state is Tuticorin seaport located ?

(30.7) In which place is the international airport of Punjab located ?

19 P.T.O.
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For question no. 30

WA hT {ET-UT (TSI TR )
Outline Map of India (Political)
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